Algebra II







A day (Aug. 24)
B day (Aug. 25)
Beginning Review 1
Name: ____________________________
Period: _______
Show your work!   No work = No credit

Evaluate.
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Simplify by Combining Like Terms.
5.  
[image: image5.wmf]56112

yyy

-++



6.  
[image: image6.wmf]7410

abbcbc

+-



7.  
[image: image7.wmf]781019

rr

++-



8. 
[image: image8.wmf]2

42

xxyyxy

+-+


Add or subtract.  Write each answer in the simplest form (as a fraction).
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Multiply or divide.  Write each answer in the simplest form.
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Order of Operations
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Simplify.
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Graph the points.
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Evaluate (plug in values for x and/or y ).

27.  x – 12 when x = 7 
        



28.  6x + 9  when x = 4
  

29.  25x(x – 4 ) when x = -1                             

30.  x2 + 5 – x     when x = 5 
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 when x = 2,  y = 4                         
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  when x = -4,  y = -2 

Solve.
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Solve and Graph the inequality.
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